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Listwa XSO
XKS:11 1 | ®| XS2:1
K.4.1:1 1 | @] K111
K.5.1:1 1 | @] K211 o
K.3.2:1 1 | @] K311 N
K.4.2:1 1 | @] Ki1.211 S
K.5.2:1 1 |@] K221 i
XKS:6 2 | @] Msz-1:11 =
2 | @] KI.T:A1 Listwa XS2 _
K1.2:A1 3 K1.1:2 FS1:2 1 |®| XSO:1 M
XKS:5 4 | @] msz-2:11 KS1:3 1 |@] Ks2:3 =
4 | @] K2.1:AT1 MSC-1:33 2 KS1:2 M
K2.2:A1 5 K2.1:2 MSC-1:31 3 KS2:2 S
XKS:4 6 |@®| Msz-3:11 MSC-1:34 4 | @] Msz-1:14 z
6 |®| K3.1:A1 MSZ-4:14 4 | @] Msz2:14 .
K3.2:A1 7 K3.1:2 MSZ-5:14 4 | @] MSZ-3:14 X
XKS:10 8 |®| MSZ-4:11 MSC-1:32 5 |@| MSz-1:12 ©
8 | @[ Ka.1:Af MSZ-4:12 5 | @] msz2:12
K4.2:A1 9 K4.1:2 MSZ-5:12 5 |@] mMsz-3:12
XKS:9 10 | @] MSZ5:11 6
10 | @] K5.1:A1 7
K5.2:A1 11 K5.1:2 8
12 9
XKS:N1 N1 [@] N KS1:Af 10 SSWIN, BMS (OPCJA)
K4.1:A2 N1 | @] K1.1:A2 KS1:A2 11 SSWiN, BMS (OPCJA)
K5.1:A2 N1 | @] K2.1:A2 KS2:A1 12 SSWiN, BMS (OPCJA)
N1 | @] K3.1:A2 KS2:A1 13 SSWIN, BMS (OPCJA)
U
[
N Listwa XKS Listwa XKSO1
X K1.2:4 1 | ®| XKSO1:1 XKS:1 1 LS1:X2,1
7 XKSO3:1 1 | @] xKso2:1 XKS:2 2 LS2:X2,2
& K2.2:4 2 |®| XKSO1:2 XKS:3 3 LS3:X2,3
< XKS03:2 2 |®| XKso2:2 XKS:4 4 P3:14,3
. K3.2:4 3 | @] xKkso1:3 XKS:5 5 P2:14,2
z XKS03:3 3 | @] xKso2:3 XKS:6 6 P1:14,1
- XS0:6 4 | @] XKsO1:4 XKS:7 7 LS4:X2,4
N XKSO3:4 4 | @] XKs02:4 % XKS:8 8 LS5:X2,5
™ XKS03:5 5 |@®@| XKSO15 - XKS:9 9 P5:14,5
o XS04 5 | @] XKSO2:5 - XKS:10 10 P4:14,4
X
= XKSO3:6 6 |@®@| XKso16 S XKS:11 11 [@] P1:13
- XS0:2 6 |®]| xKso2: o P5:13 11 | @] P2:13
3 Ka.2:4 7 | @] XKksor7 > P4:13 11 | @] P3:13
v XKSO03:7 7 | @] xkso2:7 = XKSOT:N1 N1 | @] Lsixi
K5.2:4 8 |®| XKso1:8 2 LS5:X1 N1 | @] Ls2:x1
XKS03:8 8 |®| XKso2:8 - LS4:X1 N1 | @] LS3:X1
XS0:10 9 | @] xKsSo1:9 v
XKS03:9 9 |®| XKSO2:9 e = () > K
XS0:8 10 | ® | XKSO1:10 . N — Z U
XKS03:10 10 | @ | XKSO2:10 3 oM > 0O
XS0:1 11 | @ | XKSO03:11 o : A=
XKSO3:11 11 | @] XKsS03:11 e = O g W
XSO:N1 N1 | @] XKSO1:N1 - = L] -
XKSO3:N1 N1 [ @] XKSO2:N1 = jZ> O >
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